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PART - A
SPOTTING ERRORS

Directions : Each item in this section has a sentence with three underlined parts labelled
(a), (b) and (c). Read each sentence to find out whether there is any error in any
underlined part and indicate your response in the Answer Sheet against the corresponding
letter i.e., (a) or (b) or (c). If you find no error, your response should be indicated as (d).

1. Opening his letters, reading them carefully and sending for his clerk,
(a)

taking a holiday.

- (a) (c)
No error.
(d)
6. 1f Ramesh wi_il be promoted he will get  a higher salary. No error.
(a) (b) (©) (d)
5. My brother goes to the office  five day week. No error.
(a) (®) - (c) (d)
EDF-F-KJU - A yA
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g, Ifyoulend Mohan apen he will lend it to someone else
(a) ()
and never you will get it back. No error.

(c) - (@)

9. One of most widely spread  bad habits  is the use of tobacco. No error.
(a) (b) () (@)

10. Agreatpart of Arabia isdesert. No error.

11. e 1 ‘ & . s te - pex le to die of -

constituted a

12. al committee to look

(b) perfect happiness
{¢) great suffering
{d) moderate sympathi

13. A glance at a beautiful object gives us

delight. 16. Rakesh delivered a slanderous speech.
(a) wisdom (a) abusive
(b) happiness (b) praiseworthy
(c) purity (c) moderate
(d) peace . (d) inspiring
3 A - EDF-F-KJU
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17. Suddenly, the sky was darkened by a 19. The Arabs who are not in the cities live

gigantic bird. in the desert throughout the year,
(a). winged shifting from one oasis to another.
(b) small (a) sandbank
(c) tiny (b) mound
(d) enormous (c) dune
18. To abolish poverty would be to destroy (d) spring

the soil upon which mankind produces
the virtues conducive to higher civili-
zation ;
(a) detest

(b) eradica
(¢©) n
(d) assi

20. The various facets of life can be found
reflected in a large city.

EVELd

Directions 3 Eac his section Consists of a/senten underlined word
followed b '- o that i8 o e A1 to the underlined

21. 15 4 v aglb y au picious day.

22. . 5. He has deéper hostility towards Mohan.

(b) careless

(¢) malice

(¢) stupid : .
(d) fatuous (d) friendship

23. He is suffering from a curable disease. 26. His life is rather monotonous.
(a) remediable (a) exciting
(b) treatable (b) dreary
(c) terminal (c) tedious
(d) operable ~ (d) uncventful

EDF-F-KJU - A 4
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27,

- 28.

3l

32,

33.

Macbeth is a morally repulsive charac-
ter.

(a) abominable
(b) attractive

{c) obnoxious
(d) ugly

The serene beauty of Kashmir had a
soothing effect on his mind.

(a) placid

(b) pleasing

(c) a performance that is extremely
good

(d) a fashionable person

A jack of all trades
{a) someone who has many skills

(b) a confident and not very serious
young man

29, Life is transient in nature.

(a) brief
(b) momentary
(c) elemal
{d) 5hoﬂ—lived_

30. Sohan is a vain person.

(a) modest

thing

very hard to achieve some-

35. Fair and square

(a) in an honest way

(b) in a critical way

(c) neither very good nor very bad

(d) in a foolish way

A — EDF-F-KJU
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ORDERING OF SENTENCES

Directions : In this section each item consists of six sentences of a passage. The first and
sixth sentences are given in the beginning as S1 and S6. The middle four sentences in
each have been jumbled up and labelled P, Q, R and S. You are required to find the proper
sequence of the four sentences and mark your response accordingly on the Answer Sheet.

36. S1: We do not know what to do with 37. S1: The British rule in India has

our knowledge. brought about moral, material,
cultural and spiritual ruination of
this great country

S6: In the course of time they may

rule over us altogethe:
ut it is
P he curse of
ed out.
Q:
ligion.
R : e
g - his system of

The proper sequence should b

{a) SPRQ

(a3 SPRQ

() PSQR (b) P3QR

{c) QRPS (¢) QRPS

(d SRPQ B @ SRPQ
EDF—F—m;A 6
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ORDERING OF WORDS IN A SENTENCE

Directions : Each of the following items in this section consists of a sentence, the parts
of which have been jumbled. These parts have been labelled P, Q, R and S. Given below
each sentence are four sequences namely (a), (b), (c) and (d). You are required to
rearrange the jumbled parls of the sentence and mark your response accordingly.

38. the urban local body elections unidentified gunmen and injured another during

P Q R
shot dead two workers

3;‘

() SQR
d QPSR

40. the father also in his quesl J
P Q R S

(@ SQPR

(b) PSRQ
(c) SQRP
(d PQRS

7 A - EDF-F-KJU
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COMPREHENSION

Directions : In this section you have a passage. Afier the passage, you will find some
items based on the passage. First, read the passage and answer the items based on it. You

. are required to select your answers based on the contents of the passage and opinion of
the author only.

Pnsshge

I do not wish to suggest that because we were one nation we had no differences, but it
is submitted that our leading men travelled. throughout India either on foot or in bullock-

0 believe in
ways that we are
the advantage of

vil of the opium habit after
to consider well what [ had said oncthe railways.

41. According to i ) Because they wanted to push
G Hias-mmvier e 608 ik copleto travel to different places

b) has been an aggreea
(b) Eeree ase they could observe the

nations ; !
underlying unity of the country as
(l:'»:l has alwa}fs been one nation Blﬂng made b}r nature
with differences
(d) became a nation after the British '(¢) Because they ihsrnsalves: hud
| S travelled to these places
42. Why did the great sages of India _
establish pilgrimages in the different (d) Because they wanted people to be
corners of the country ? religious everywhere
EDF-F-KJU - A 8
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43. In the passage, the author’s attitude (b) The Ganges has been polluted, so

towards the railways is onc should bath at home

(a) critical (c) One should take a holy dip in the
(b) sympathetic ' Ganges to purify one’s heart

{cj indifferent - (d) The purity of heart is superior to

@ thei observance of any ritual
apathetic

45. The paragraph is written in a
(a) dmlﬂgzc stylc

44, What does the author mean when he
says that “whose hearts were agl 0

Directions : Ez o g6 38 in this secti ank space and four
words or ' te X5 ' of words you
consider e on the Answer

47.
illegal arms unit was
the police in a raid.

{a) revealed (c) dozed off
(b) searched _ (d) plugged off
(c) discovered ' : .
(d) busted 50. The cops murder by kin.
; {a) suspect
48. A woman got into the car and () afford
(a) drove off - (c) manage
(b) broke down (d) administer

9 A - EDF-F-KJU
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- B
51, Frafafaa =wifiwet & @ feest 55, frafafas % & @fa o, fed

el I FE QT W § 7 aifeer § wiafie SoseRr @ @
(a) Foell .
(b) efereas . , |
(b) STl ¥ @ g (B U o)
(c) T (c) Wew
1 ‘ (d) Wkfear fir

54, frafafea % & fer s Sia & daew 58, 94 A et Tl wamr = forees

FE R o ¥ 7 T et S wet @ 2

() IR (b) U THTE qIU

' (c) TH Iud wW F

©). i (d) U IO 9 R T e o
(d) CArEAT -
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PART - B

51. Which one of the following cell 55. Which one of the following organisms
organelles does NOT possess nucleic represents  the  primary  consumer
acid ? category in an ecosystem ?

(a) Nucleolus (a) Caterpillar
(b) Chloroplast , (b) Crabapple tree
(c) Ribosome (c) Frog

(d) Plasma Membrane

52,

53.

(c)l Pericycle
(d) Sieve tubes

58. The light energy escaping from the Sun

54, Which one of the following organisms can be spread by

has vascular tissues ?
(a) Cladophora
(b) Penicillium

(&), Mamsipe (d) a combination of a convex lens
(d) Anabaena and a concave lens

(a) a shower of rain drops
(b) a plane mirror

(c) a convex lens

11 A — EDF-F-KJU
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59. 7% ¥ ¥ G WA WRN AR I 62, Pl F ¥ s s S oW

TIFTRT 1 Tl AT 2 TH TR B 7
(2) e fEaftm wof - ag # (a) &I
ST T — TS FAT — 9qfi
ot o el ot s B ()
(b) Tk Rl st o eafy g (©) wgr

— 9% ok &7 F glig wit

¥ O ¥ ®g H

foafafa % 8 frd wge foen

(a) CH;3(CH;);pCH,0 SO3 Na' 81
TrEefaw TrEsiTEEE

(b) [CH3(CHj)15—-N~(CH;);]" Br- ®

(b) TETAw
(c) CH;(CH,);sCOO™ Na* :
(@ CH;(CH,),,COO(CH,CH,0), (5) e
' CH,CH,OH (d) faferaim

EDF-F-KJU - A 12
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59. The correct sequence of energy transfer 62. Which one of the following is an

that occurs when an apple falls to the example of a clean fuel ?
ground is
k

(@) Gravitational potential energy — & ‘Coks

heat energy fo air — kinetic (b) Propane

energy — heat energy to ground

and apple — sound energy (c) Petrol
(b) Gravitational potential energy —

sound energy — kinetic energy — _ (d) Wax

heat energy to air — heat er
to ground and apple

(©

(d)

(b) Qua
(c) Feldsp
(d) Pitchblende

61. Which one of the follo

synthetic detergent ? 65. Which one of the following is used as
§ | iy a binder in paints ?
(a) CH;(CH;),oCH,0 803 Na ,
(a) Titanium dioxide
(b) [CH3(CH,)ys—N—(CH;);]" B~ :
(b} Movolac
{L‘-) CHEI(CHE.)I{SCOD_ Na+
(c) Phthalocyanine
(d) CH;(CH,),;4COO(CH,CH;0),
CH,CH,0H (d) Silicones

13 A — EDF-F-KJU
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66. ag wefa % wf A fFrfofas & @ 70. I 79T g va awe’ W fE ww

T U wE e Y 7 “earia’ gar R, et o o @ 7
(a) @1 el o1 9 SorEfEda ar
(b) A Wl weENi W ok T (b) shrer & wfeet e
(c) A wefy w=wmardy  sEwr #
" e g (d) #Fararerfian
(d) arg wely wem & feuf ﬂ m% 2
aaﬁim = TR .. AT
67. T¥ra oy GrewTGHT, il ST ' '
wiftreqor ,
aﬂ%r i
(a) T fe
{h) = =
© i’ | A e
(d) == ,
ﬁs. llmﬂ,l!
g
(a) &
(b) wex 3

(¢) wfiamr amifm

i, 1857 <l siromTg SgETSoT ¥
0, o8t g PR R Rrv w W R
69. “m;ﬁarraa Frreaferfia emeg forard qr 7
(a)m , (b) S TR H HHEA AT
(b) erff (c) FRUTE F ATIE T
(c) ®raT (d) 7t e (TeRE AE) @
(@) foream Tt / srfiro
EDF-F-KJU - A 14

Join Telegram : https://t.me/defenceekaksha



66. Which one of the following is NOT 70, *“Shamal” warm and dry wind is a
true in reference to Air mass ? “Local” wind found in

(a) Air mass forms either in tropical " (a) East Asia
or in polar region

(b) Air mass develops on continc;nts Wt (Comat ok <ch

as well as over ocean (c) Sahara of Africa
(¢) Air mass develops in a cyclonic .
o7 (d) Mesopotamia

I" is associated

71. "Inversimi of

(c) South America _
. zamgarh Proclamation of August
(d) East Asia ressed on which one of the

following issues ?

69. “Viticulture” is a common feature of ) N
which one of the following Australian (a) Hindu-Muslim divide
ities 7
S (b) Support to the English Govern-
(2) Adelaide ment
(b) Darwin (c) The return of the Badshahi
(c) Hobarl (d) The imposition of heavy Jumas
(d) Brisbane (revenue demand)
15 A - EDF-F-KJU
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74, fom T 3 7w fr @R T 78.20°C w, W ¥ sfy @ A R
T o W T g o e g T |

(2) 330 m/s
(b) 800 m/s
(©) 1500 mis

(d) 5000 m/s

T6. '_E P T | &% ﬂé .'Z
ﬁﬂ‘l‘@'ﬁ'ﬂ‘ AT : @Tﬂ—

(a) oTHE T ek
(b) WE® Hlte fes
(c) aim| e

(d) =T T (D'Oyl

(@) =1 @ (a) i g

Gy for 4ge (v Frifim i <

(c) Jradhim &= (c) sifrfm aififin foges

(@) Teclta & (d) Prifr mfde frge
EDF-F-KJU — A 16
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74. Which  Viceroy had made the 78. At 20°C, the speed of sound in water is
observation, “It's a beautiful world if it approximately
wasn’t for Gandhi ...." 7

(a) 330 m/s
(a) Lord Irwin

(b) 800 m/s
(b) Lord Wavell -

(c) 1500 m/s
(¢) Lord Mountbaiten

(d) 5000 m/s

(d) Lord Willingdon

79. Which one of the following could be

75. Which Indlan husmassman favg ﬂ n?

r wire having
its resistance
another copper
is #/2 then the
ill be

(¢) Thomas Danicll
(d) Charles D'Oyly

77. Which one of the follow 81. Basic scientific principle behind a

an insulator ? - nuclear reactor is
(a) Current electricity (a) Nuclear fusion
(b) Static electricity (b) Controlled nuclear fulsion
(c) Magnetic field (¢) Uncontrolled nuclear fission
(d) Gravitational field (d) Controlled nuclear fission
17 _ A — EDF-F-KJU
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82. fry §t mit afifornr & forg Fremfofea

#Q wn FoT WG AR P
Fe(3H)+CuS0, (ST+f7) »>FeSO,, (i)
+Cu(BH)
(a) wte so=Es §
(b) af¥ferar & wyaq fawaw @ &
T & o

(c) et & gorm # @ it

© aﬁ&mmﬁmmm#
foro srfer 3= dawA B sagaean

aedt @

(@ st B9 & for arg # N, silk
0, <R (i)
e e %
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frafafen & & e R 2 7
@) f i

(b) sreed STSEET

(c) ied =R

(d) e TEURTE

2F WWW
v

i o i
e

(c) T
(d) wEATET
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82. Which one of the following statements 85. Who among the following has

is NOT correct for the given reaction ? explai:ned the phenomenon of photo-
Fe(s) + CuSO,(aq) — FeSO,(aq) + Cu(s) electric effect 7.
(a) Iron is the reducing agent () Max Planck

(b) The solution turns green in colour (b) Albert Einstein

after the reaction (c) Neils Bohr

(c) Copper is a more reactive metal (d) Erest Rutherford
- than iron

o nf oxalic acid

88. Which one of the following rivers was
earlier known as “Vitasta" ?

(b) oxides of nitrogen are unstable

a) Tista
(c) the reaction is cndothermic and (@)
requires very high temperature ‘(b) Thelum
(d) the stoichiometry of N, and O, in (¢) Tungabhadra
air is not ideal for the reaction to
lake place (d) Bharatpuzha
19 - A — EDF-F-KJU
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89, WTGE] 7O JURY &% Tud AeEt # 92, frfafes # & fore © sfemar A

e et 2 | Aget § ww W A WRE DI A B T
e, WRET T A A T o § 2 vafda sifa” & ww ¥ afifs fer & 2
(a) \eeadt (a) M S

(b) Wi (b) 3= sriies

() Felt ' () wh. . =frm

@ fi {d)cﬁarh

90. “‘fire SgEe’’ fred gEfim. 2 \feffeg 3 (), SeeOd @ @ 3,
P wFEAL SR FAAI WS

(a) Feelen ik ST

2. qlg i ‘_-' H Gl " J : -
N e — ¢, Teirg o9 I §E1 ®

2 s
3. vER-Hier & af

wﬂ?ﬁﬁw ' fem sk € goow =AM |
HIA I FEA Tl & AT A FEK
(b) aw 1 3K 3 i 4 uEe ke W G

(© 1,233 wrsfarar d@R waTR % Y
(d) =ae 3 7 v |
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89. River Sarda drains in the Northern 92. Who among the following historians

Plains of Uttar Pradesh. Before have described the Quit India move-
entering in the Plains, Sarda is known ment as a ‘spontaneous revolution’ ?
as

(a) Gordon Johnson

A ST (). David Amold

(b) Bhagirathi (¢) F G Hutchins
(c) Kali (d) Peter Robb
(d) Pindar

The following 3 (three) items consist

90. “Mission Indradh L“esa two state-
ct the correct
(a) B iven below
(b) A
(c) Women ; ) Be atements are indivi-
< e N & L tement II is the
(d) Fullimmi 2 B B & nation of Statemnent I

ts are indivi-
| Statement II is
rrect explanation of

1. l:_]ail or d tTis true but Statement 11

ward direcﬁon
: Abul  Fazl shaped,
represented and  arti-

Select .ﬂ]ﬂ correct ansSwer us culated the  ideas
code given below : . associated with the

reign of Akbar

3. The movement of

(a) 1 and 2 only Statement 1I : The qualities of Abul

(b) 1 and 3 only Fazl impressed Akbar
who found the former
(¢) 1,2 and 3 suitable as an adviser
and spokesperson for

(d) 3 only his policies
21 . A - EDF-F-KJU
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04. TG [

95.

96.

. 3 1936 § faw Wi
o wwr g aRa T
e H e afteErer
(Sn) #@F safae o |

sfaga wRdwm fepam @
FRE @ UH WA o ¥R
= Wi s afafaat |
ufee TrFy S W@ A |

99 11

%99 | _
HERaATEl & WiEdH o e
Forr, = AteaEl § ARGT
fafrm @1 & w4
T miiE AFaar (71E)
o e e TR G

& uwhs (sm=) gewfiia
g ariE 9 | :

Y 01 .

2 arfrs AR AR BFRF TET R

a4 | TR A FisEr - T T LT
AR A % Redc Siegar ¥ 5 a1
yifeh & P BT % | aR B &t Bt 2r
g WA 2/ SR T A a IR W
WA de deedT V¥ WY A W 3 &
P, BF1 ¥ | PAT P, di= e GaY
freafafea da s ar & °

(a) P =2P,
(b) P =P /2
(c) P = 4P,
(d) P=P,

EDF-F-KJU - A
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97.

98.

99.

firdt wfemferem & dey # fFafafaa
AT W faem e .

1. wfcferat & sreehrr & A faen
gfiarfera F wf = @@= ® U
&t g Wk wwt § )

2. afforent # S & < fsrar
gftArferet & o # yETied O W
Forofz et ®

3. afTfor # ety &% T <t
aftfera SemE w ek T @

F94h W § S Y F99 §e T 7

Eu) 1,2 3R 3

(b) Fa7 1 &R 3
(c) ST 2 @R 3
(d) ¥ 1 AR 2

ma&'ﬁmﬁwww%\m
?7

(a) S&d @l gRAt &

(b) 99 H gHA HaW &

{c) ol a8 # g=ft R Ww B9 9™
TSIl <RI ATAT &

(d) TR % GeAAT

foret st 3 siPreTS Sw B B
R 50 cm ¥ | afs el 1 = 25
8, 31 e B o o 2

{a} 12-5 cm

(b) 5 cm

{c) 2 cm

(d) 10 cm
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94. Statement |

Statement II

: The Kisan manifesto

adopted by the All India
Kisan Sabha in August
1936 contained radical
demands

The All India Kisan
Sabha was a part of the
Congress and  main-
tained close relation-
ship with the Provincial
Congress Committees

Statement Il : °

power dlsmpatlou. P. The
wire B is 2r and its length i
same dc voltage V is app
causing power dissipatio
one of the following is

relationship between P and P, ?

(a) P=2P,
(b) P=pF/2
() P=4apP,
@ P=P,

97. Consider the following statements
about a solenoid :

1. The magnetic field strength in a
solenoid depends wupon the
number of turns per unit length in
the solenoid

2. The magnetic field strength in a
solenoid depends upon the current
flowing in the wire of the solenoid

strength in a

3. Thc magm:' fi
] upon the

snts ‘given above

: al length of the objective lens
of a telescope is 50 cm. If the magnifi-
cation of the telescope is 25, then the
focal length of the eye-piece is

(a) 125 cm
(b) 5cm
{c) 2 cm
(d) 10 em

A ~ EDF-F-KJU
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100. frafafa 3 & T o =@ e 103, Fraforfga # & st uerd s fasm

T st € 7 &R
(2) =T = (a) =%
(b) [ = . (b) @S
(c) &A™ FqF | (c) 914

101.

102.

() ST YR (STEHEH) .
(b) e g < (c) sifsm, wffaw &e, WREE,
o E s
(c) Efear (97%)
(d) sifsan, weeng, ofvsw =,
(d) ETHOR - ARG
EDF-F-KJU — A 24
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100, Which one of the following forces is 103. Which one of the following substances

non-central and non-conservative ? is NOT a mixture ?
(a) Frictional force (a) Ice
(b) Electric force. (b) Ice-cream

(c) Air

(¢) Gravitational force

(d) Mechanical force (d) Honey

lm- wc- OTE Nne 10 wlng ,1.. T
produce carbon dioxide or ;

chloric acid ?

. (b) Jharkhand, Odisha, Chhattisgarh,
(a) Limestone West Bengal
(b) Quick Lime (c) Odisha, West Bengal, Jharkhand,
Chhattisgarh '
(c) Chalk
' (d) Odisha, Chhattisgarh,  West
(d) Marble : Bengal, JTharkhand
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106, fgex T (e o) & wafm 109, gaaes fofafes # & e w
Frafafas =l o fer $ifm . Hfmm AfE A ST EaT & 7

1. Tqa sl = uw, feEen
BRI 1935 # ganl

2. 9% TF UEA WA F FRO PR iy B i
Sl I WA & 90 SaT §

3. R & it % 3ol W e (c) Fmm TrgEEE:

(a) HicHaw wEe

aﬂmﬁ%ﬁam/ﬁmnﬁ'

s feraeT €en 2 7 ' (a) f waRe wrade

& LW (b) aTgsiEe s
(b) 12 5¢ 26 fe

(¢) 24 =2
(d) 24 = 52 firme (d) Tagmor (wieror)

(c) T & fesm # wener whadw
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106. Consider the following statements 109, Tooth enamel is made up of which one

relating to Richter scale : of the following calcium compounds ?
1. It was devised in 1935 by Charles (a) Calcium carbonate
F. Richter
2. It describes the quantity of energy (b) Calcium sulphate

released by a single earthquake
(¢) Calcium hydroxide
3. Richter Scale has no upper limit

Which of the statements given abg (d) Calcium phosphate

is/are correct ?

ectively, where
ations due to
face of these planets

@ 1,

107. Which
currents 1s

is seen little before it nses and

(d) Oyashio ciiffent g ; -
while after it sets. This is

108. What is the time gap ix
two successive tides & : '
on the ocean surface ? (a) total internal reflection

() 12 hours (b) atmospheric refraction

(b 12 hour; 26 minutes (c) apparent shift in the direction of

(¢) 24 hours S

(d) 24 hours 52 minutes (d) dispersion
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112. & (a) CD ¥R BC

¢ c
s (b) BC 3t AB
. (c) CD 3K 4B
(d) 48 #R CD
0 —> 115. et e werrees 3wy A Frstfufad
C & for 7% w1 (1) - EfEf () (2) oI @ CER W A
mwﬁw&%ﬁwﬁwum} §, S I AT TS el © |
7 4, B 7 C 3l ik e 5 e P
e V % o ] LT e },
o fas et
(a)
(b)
() m;:f <h
(@ _ T
3. 7w (1) e B & @ . ATl T ¥ T
m) or A sgeem L )
(a) 10° .
) 1073 F B IS B
(€) 10°
(@ 107 N
114 o, Forerr gaeht
;:? 6T & BT @ YA B
. = AT UK e

%ﬁmmﬁ(‘am}%
(c) TH AW, ST AT 3T F g¢ T}

s sk fomar Wt oo w T F
fadh T T e R
R 7@ & (v) - v (1) 7% ¥, @Ra (d) T R, S AT A H g ¥
iy T wfea (eeawor) wfa sy , R Former 36 aoE | e F
e Y == g st i ® 2 FRT @R Y B
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(a) CD and BC
(b) BC and AB
(c) CD and AB

(d) AB and CD

. e 115. Which one of the following statements
The figure.shown above gives the time regarding a thermos flask is NOT
(f) versus position (x) graphs of three ottt

objects 4, 8 and C. Which one of the

following is the correct relatiol g are separated by
bemwfl e  vacuum “made 'of glass which
respectively al any nt ] conduk

nner wall radiates

@ ¥ heat and the
all absorbs some
113. 1 dyne :
equals s radiated from
(a) 10
(b) 10 are poor
(c) 10
(d) 1
ks " huge black star which has zero
v ceeleration due to gravity on its
(Velocity) A
ar which has moderate accelera-
B c tion due to gravity on its surface
o {c) star which has collapsed into itself
t and has large acceleration due to
{“fm) gravity on its surface
In the given velocity (¥) versus time (f)
graph, accelerated and decelerated (d) star which has collapsed into itself
motions are respectively represented by - and has zero acceleration due to
line segments gravity on its surface
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117. TRAEEe R 8fgm & ff suoeer 121, SRR gm0 2001 § 9wl S

W G F=X+(1-8x°C) ¥ | & AW H we™ W= & g siftrea
T wew X fe 2 (mreq) fepar wan ar | 9w few wRdE
(a) 32 W%R%Wﬁ%ﬂ%?

(b 22 (@) WMWY

(c) 98 .

(d) 42 (b) sifeam

113.aaﬁawmmqmﬁmgam-"
T firer & e e ECRY

W =
faafor ofer 2
(b) ==t Ly
() &
(d) _ﬁ“ﬂ?ﬁ
119. LIGO =1 1 &7
| (a) el
(b) =R
(c) W TegEs et 3 ) & sfad &7 @
(d) TR TegFs AfeEE
120. UF WS 1 9% F1 o w=ley ? (a) witrsraTa
B SR TR S (b) ST T
(b) =TeE X I=F TS G
(&) Wt o = T A Uk AT
(d) eft it Fr T A : (d) s Swmsfeafia arfmzm
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117,

118.

119.

120.

The formula for conversion between 121, Kamarajar Port was commissioned in
Fahrenheit and Celsius 1s 2001 to handle thermal coal require-
— iy : ments. It is situated along the coast of
BSRAIRERT0) which Indian State ?

What 1s factor X 7

(@) 32 - (a) Andhra Pradesh
®) 22 |
(c) 98
(d 42

(b) Odisha

{c) Tamil Nadu

When a beamgef white (d) Karnataka \

through
light be;

{c) Light _
hich one of the following can be said
(d) Laser Induced Gaseous Opiigs tok ially related to ‘Polar Front

A fuse wire must be

(@) conducting and of low melting (@) Anticyolone

point

(b) conducting and of high melting
point

(b) Tropical Cyclone

{c) Temperate Cyclone
(c) insulator and of high melting point

(d) insulator and of low melting point (d) Inter Tropical Convergence
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124 509F ok Ry i e wfemt 127, 9 wiew gfwel & fawa @ feafafaa

2| wadi s frem swae H A /8w owdh B/E 0
wel aftarr frsfofaa & @ == @ 2 -
o R P 1.7 wiea g 1850 & qus ®
(a) o femerm & wife oo & . Y

HIET AT R 2.7 Wiew afEd 1880 % g &
(b) St femrerht avi (wow) & sfersa nfea & w4

q o & ved € fawwm o
(c) T femer it wfa a1 d=r r‘

3. % wie v dw w0

(d)

125. 57 1931 & @ ' 3 T S S

- (o
= 7

fegar &7 2 I

- 28, 1 19478 73 g (3 o Sifee)
(&) TF, wqE A SR At @ Gt 3 & v e o i &

(a) USSR &1 9fciga

(b) USA # &y Ieared sg & ferw

126, wig it | il (1809) F
Torw g9g & w1g Teafm & ot 4 7

(a) ATRfes &1 gg

() feefee = g S (¢) T W fEe W oy w1 OB
(c) 9WH =1 45 ' fg ;
(d) foem =1 38 (d) UNO & w3k = & fom
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124. Bmhlﬁaputra and Indus rivers are 127. Which of the following staternents

antecedent rivers. Which one of the about The New Model Unions is/are
following may be the true definition of correct ?
an antecedent drainage 7
r B g . 1. The New Model Unions were

(a) Which follows the initial slope of :

the Himalaya formed 1n the 1850s
(b) Which existed before the 2. The New Model Unions were

Himalayan * range came into formed in the 1880s

cxistence

(c) Which followed the dip or rock he .Nev Unions com-

54

uman Docirine of 1947 was
mced to achieve which one of the

signed after which one of the following (a) Containment of the USSR

battles ? :

(a) Battle of Austerlitz (®) m:s{lnsg;gdcuimm production
(b) Battle of Tilsit

(c) Battle of Wagram (¢) Offering friendship to Europe

(d) Battle of Lisbon (d) Strengthening the UNO
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129. fFfafifeg & @ a9 @ /@ 99 6=
®/% 7
1. & 1948 § @ & wgw Uy H

e iagg 7 =l 3 USA & wwde
T

2. 971948 iaﬂﬁgﬁw%gﬁw

131. fomft frafea snger a1 foraeh
W UZ ¥ BT ST Gl B 7
(a) WG & qEA R
(b) qer et 3mah
(c) WRa = gty

(d) @E%

EDF-F-KJU - A

132. 799 O & fawg § Fefefen @
HiEl w99 Tel AEl & 7

(a) T wewml o1 Fatw el o=
# fum gw & Feifa wet
T feman ST ®

134, e it w0 F9 gmmia & owh
i :

(a) 1826
(b) 1825
(c) 1824
(d) 1823
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| 129. Which of the following statements 132. Which one of the following statements

130.

131.

is/are correct ? regarding the Rajya Sabha is NOT
correct 7
1. In 1948, Burma was admitted to
the United Nations and immedi- (a) Its members are elected by the
Emg ;}lppurted the USA in' the elected members of the Legislative
“ it Assembly of a State
2. Tn 1948, Burma joined the United .
Nations but refused to denounce (b) The clection follows the system

i'{g]e transferable

Jliln Election Commission
removed from office on the recom-
mendation of

134. The treaty of Yandabo was signed in

(a) 1826
(a) The Chief Justice of India _
) ) o (b) 1825
(b) The Chief Election Commissioner
(¢) The President of India (c) 1824
(d) The Parliament (d) 1823
_35 A - EDF-F-KJU
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135.

136.

ety # “‘uw tfeerfear ok wEe
Tt & dfss fiem’’ & fomesg
foae form woeR =1 AT WA R 7

(a) AT WEHR
(b) AT FHR
(c) HTTET AFR
(d) T3 THR

& Frafafen feor = fa=r i :

T I BE WER & At HEeT
st & freme o 2, s & o
T ‘dn’ xar war | Eew i

TEETW § MK AE AECEl, AAH

WR waEr #r fola st & | =
A-AER @I W 'mE U

TATHR FEX 1 ATHRT H e |
? | -dR W EEE @
T, S Whe AfEs oEel § 84 €
e st W T B, AR Avlsad
fRansdt | wgan W wwar ¥l

= gy & geeEriee
(2) wifch &< |

(b) e

(c) ®ed stew

(@ R f
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137.

138.

139,

IMBEX U dgeh wwm ®, Wit fafia
'Y ¥ ART AR TE A oW Al
% == garfera forem s | W6 a
oY HET R 7

(a) Aty

(b) ATEEE

(c) AIdeH

I

2018 % frm sl (STTE)
e W Frfifes # & B T R
WERR' ¥ Gl fehaT AT 91 7
(1) [FfeT 9 TR

(b) T FEA EH

(c) AT SATIRT

(d) sea fmm

TR § GST o SR &I & g9 T4t
SRT ETHAT <t T e frae i
wREn o feed & T aar agEl @
T T B e e

frafafas F & PR frge e T
qr ?

(a) Tewan femar awi
(b) Y9THE THTH

(c) G¥ffer waT

(@) e sy
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135. In the Manusmriti which form of  137. IMBEX is a joint exercise conducted

marriage results from the “Voluntary regularly between Armies of India
union of a maiden and her lover” ? and
(a) Eighth form (a) Malaysia
(b) Fifth form | (b) ‘Maldives
(¢) Mauritius

{c) Seventh form

(d) Sixth fo

following was
ize in Fiction
- 2018 ?

136.

following was

. ns & of the seven
pathways made inwhite compaogite 1l to look into

so that the floor does not getheated -venue shortfall being faced by the

e GST rell-out in India

Identify the Samadhi : steps for augmenting

collections 7

(a) Shakii Sthal
(a) Himanta Biswa Sharma
L) saantivan (b) Thomas Isaac
(© Sadaiv Atal ' (© Sushil Modi
(d) Veer Bhumi (d) Capt Abhimanyu
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140.

141.

142.

143.

1581 wawlt Wrdr faw, 2019 w8l 144, R # {9l & quA Al @ 2 A
s R T ? ¥ e gt % ¥ 9w /3 v
(@) 7 fwett | Tl £/8 2

(b) TEr TR 1.t oamEre : wéR EW

(c) ST o 2. AiT amgee : REh @AW W
(d) FRroTEt = g
Mscomzﬂzn%ﬁqi’r f § : % I R

i ¥ e oy @ angles & Ra AT

(a} = ‘ -;_:.'-‘ FT a—@» I
(b) STTETHe

() far st

(d) 7%
T 2018

ICC’s =
ferar

(&) T

(b) ST B3 -

_ G - 145, 97 20100 WRa & dar== il
(c) =69 - =i ‘r-:':"_.:_"-":- Sﬁﬁfﬁ ‘ﬂ?ﬁ ﬁlﬁlﬁﬂfﬁﬂ
(d) FEafrx TEA i 3 TR Frivr e feear a2

WRE i e st ae IR () AT v PR

o e e () e R 2

(a) SHIETR (b) W sedg

) (c) &9 BRI
c
(c) ®sir
(d) v : (d) #red T T
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140. The 15th Pravasi Bharatiya Divas, 144, Which of the following pairs of old
2019 was held in names and new names of islands in
India is/are correctly matched ?

(a) New Delhi

(b) Gandhi Nagar 1. Ross Island : Shaheed Dweep

() Prayagraj 2. Neil Island : Netaji Subhas

(d) WVaranasi Chandra Bose
Dweep

was named by : -k - \;-'araj Dweep

- answer using the

Who among the following was posthu-
ously \conferred with the Ashoka
ara, India’s highest peacetime

y award, in 2019 ?

(¢) Hasan Ali
(d) Mustafizor Rahma

143, India’s first private se

gun-making unit is located at (a) Jyoti Prakash Nirala
(3) emsbedpyr (b) Nezir Ahmad Wani
(b) Kolkata

© 5 (c) Hangpan Dada :

(dj Gwalior (d) Mohan Nath Goswami
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146. Amugfa & ®@fear (F8) F IER, (c) ufafaferm st sfam, AfFes

Hafem wadt (Y@) wE oAm W ufs feemsifmw s o
fora® & wdt aldew Peafofes § ¥ o Ta wiifes @ figa e
AT R 7 T §

(a) Amoeba Proteus @ @ Y
(b) Amoeba proteus A8l wraT; zafae sfiee Siemg

(c) amoeba proteus

() Amocba Proteus 149, ST <6l sy Gt

# ¥ P
148. Afifm & fasg § fPrafifa 3 2 R Fro AeeE
T FAT wE & 7
(a) Y wRRdR < ™ (b) we Yl w1 ww W & W WA
w%ﬂﬁm‘ai‘rm#ﬁrﬁ?:%ﬁﬁ (Usreler) &1 e ey A BT #
e (c) e U U # ST gl @ A
) AWRRE  vRRd e s ¥ FaT ¥ o B
TRfE @ p-dwE A
T T i T ¥ (@) & T argfies v 2
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146. As per the code of the nomenclature, (c) Penicillin resistant bacteria can

which one of the following is the degrade this antibiotic by an
correct way of writing a biological enzyme called lactic acid dehydro-

e (d) Penicillin is not absorbed by

bacteria; so most bactenia are
(b) Amoeba proteus " resistant

(c) amoeba proteus

(d) Amoeba Proteus

147,

of heart

148. Which one of the follo sta (b) Cholera is a disease of muscles
regarding Penicillin is correct ? due to consumption of alcohol

(a) Penicillin resistant bacteria can

) c) Chelera 1s a disease due to con-
store this antibiotic in vacuole () s

sumption of contaminated food or

' F , : water
(b) Penicillin resistant bacteria can
degrade this antibioctic by an -
enzyme called p-lactamase (d) Cholera is a genetic disease
41 A — EDF-F-KJU -
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TEST BOOKLET
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CHECK THAT THIS TEST:BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
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Answer Sheet liable for rejection. i
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Booklet in| the Hox provided alongside DO NOT
write anything else on the Test Hooklet.
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You have to mark all your responses ONLY on thﬂ separate Answer Sheet prﬂvidaﬂ See directions
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Admission Certificate.
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Penalty for wrong Answers: .

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE IN THE
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